Name: ___________________________________________________________	Hour: _____________

Angle Relationships TEST REVIEW

1. Find the measure of each angle if the m<HFK=90° and m<HFG=135°. 
    Ray FJ is an angle bisector of <HFK. 
[image: ]
a. m<KFG= ____________	b. m<JFK= ___________


c. m<HFE= ____________	d. m<EFK= ___________

[image: ]
1e.		
          
	Find the m<KLM = ___________
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[image: ]











[image: ]3. Classify all that apply, adjacent, vertical, linear pairs, ONE right angle, complementary, supplementary, and/or congruent.

a. <1 and <5			b. <GFH and <CFG




c. <2 and <5			d. <2 and <FCD







4. Two angles are complementary. The measure of one angle is 21 more than twice the measure of the other angle. Find the measures of the angles. (Show all work)



5. The measure of the supplement of an angle is 36 less than the measure of the angle. Find the measures of the angle. (Show all work).  




Directions: For questions #6-10, show all geometry, justify the set up, and show all work to receive full credit!
[image: ][image: ]6 a.								6b. 
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				x = __________						x = __________				
[image: ]7.   bisects <KHI. 
[image: ]a. 								b. 


[image: ]










d = __________ 		                     				a = __________

c. If   bisects <KHI, determine if the following statements could be true or false.
	
	<KHL <LHI _____					L is in the interior of <KHI _____
	
	m<KHL = 50 and m<KHI = 110 ______	m<LHI = (m<KHI) _______
[image: ]8a.								8b. Using information from 12a., find x, if 
       m<VSW= 8x – 2.

[image: ]








								x = ______________


8c. Using the y and x from 8a and 8b above, find the value of 4x – 10y = ______________


[image: ]
9. In the figure to the right,  and  are opposite rays.

a. If <SXT=3a – 4, <RXS=2a + 5, <RXT=111°. 
    Find a and the measure of <RXS. 







a = ______________

<RXS = _____________

b. If <QXR= a + 10, <QXS = 4a – 1, and <RXS=91°, Find a and <QXS. 







a = ______________

<QXS = _____________






[image: ]10. 
[image: ]a. 
      a)
[image: ]







[image: ]x = ____________
b. 






<PQT = _____________


[image: ]
11.










[image: ]
12. 














[image: ]13.  If w //v, give the justification for each statement. 
a. <2<12		b. <8<14 			c. <5<13	



d. <10<2		e. <7 + <16 =180°		f. <16<6




[image: ]14. If m<1= 50° and m<3=60°, find the measures of each angle. Fill them in on the picture and list them out in order. 
 



















15. If m<3=43°, find the measures of each angle. Fill them in on the picture and list them out in order. 
[image: ]









































Directions #16-19: Show all work for every step and justify your set up. Find x and y. 
[image: ][image: ]16. 						17. x = ________

y = ________

x = ________

y = ________
















[image: ][image: ]18.					19.x = ________

y = ________
x = ________

y = ________









							

     Find the value of 4x – 3y = ___________			Find the value of 2x + 5y = __________

	





20. If <3 is complementary to <2 and <1 is supplementary to <3. Find x and y if <1= 13x+4, <2=5y+4 and <3= 6x - 14

x = ________

y = ________
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Name each of the following in the figure at the right.

two pairs of congruent angles
a pair of acute vertical angles
a pair of obtuse vertical angles
four pairs of adjacent angles
two pairs of vertical angles
four linear pairs

mee e Fe

four pairs of supplementary angles
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image6.png
ALGEBRA For Exercises 7-8, use the figure at
the right.

7.1 m£FGE = 5x + 10, find x so that
FC LAE.

8. fm/BGC = 16x — 4 and m£CGD = 2¢ + 13,
find x so that 2BGD is a right angle.
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For Exercises 16 and 17, use the figure
below. HL bisects ~KHI and HG and HI
are opposite rays.

K

G H [
16.If £1= /2, m/KHG = 70,and m£1 = 3d + 2,

find d. (Lesson 14)

17.1fms2 =a + 15and m£3 = a + 35, find a so
that HL L HJ. (Lesson 15
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For Questions 34, use the figure at the right.
3. Name a point in the exterior of ZRTS.

4 Find m£ TSU if 5T bisects LTSV,
m2TSU = 4y + 11, and m2USV = 6y + 5.
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QS bisects 2PQT, and QP and QR are opposite rays.
1.1 m£PQT = 60 and m~PQS = 4x + 14, find the value of x.

2.1 m/PQS = 3x + 13 and m£SQT = 6x — 2, find m L PQT.
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Choose the correct word to complete each sentence.

a. I two parallel lines are cut by a transversal, then alternate exterior angles are
(congruent/complementary/supplementary).

b. If two parallel lines are cut by a transversal, then corresponding angles are
(congruent/complementary/supplementary).

c. Tf parallel lines are cut by a transversal, then consecutive interior angles are
(congruent/complementary/supplementary).

d. In a plane, if a line is perpendicular to one of two parallel lines, then it is

(parallel/perpendicular/skew) to the other.
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In the figure, m£2 = 92 and m£12 = 74. Find the measure
of each angle.

1. 210 2./8
3.49 4./5
5. 211 6.213

Find x and y in each figure.

7.

Find m£1 in each figure.

9. 10.
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In the figure, m£3 = 43. Find the measure of
each angle.

7. £2 137 8. 4743
9. £10 137 10. £11 43
11. £13 43 12. £16 187

In the figure, m£1 = 50 and m£3 = 60. Find
the measure of each angle.

13. 24 50 14. £5 60
15. 22 110 16. £6 70 j
17. £7 110 18. «£8 120
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Find x and y in each figure.

(25y - 20)°

ey + 27"/

3y +1)° (ax=5)°

(3x+11)°
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In the figure, XP and XT are opposite rays.
(Lesson 14)

13. 1f m£SXT = 3a—4, mZRXS = 2a + 5, and
mZRXT = 111, find m£RXS. 22;49

18, 1f mZQXR = a + 10, m£QXS = 4a - 1, and
mZRXS =91, find mZQXS. 34; 135

Measure each angle and classify as right|
acute, or obtuse. (Lesson 14)

E F G

15. ZKFG 45°, acute 16. ZHFG 135°, obtuse
17. ZHFK 90°, right 18. ZJFE 90°, right

19. ZHF] 45°, acute 20. ZEFK 135°, obtuse
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Name each of the following in the figure at the right.

two pairs of congruent angles
a pair of acute vertical angles
a pair of obtuse vertical angles
four pairs of adjacent angles
two pairs of vertical angles
four linear pairs

mee xeFe

four pairs of supplementary angles
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